GENERAL INFORMATION

This product has been manufactured by or on behalf of Gembird Europe BV.. Inquiries to the EU Importer or
related to product compliance in Europe should be sent to: Gembird Europe BYV.,, Wittevrouwen 56, 1358 CD,
Almere, The Netherlands. www.gmb.nl

Warranty conditions: www.gmb.nl/warranty

Product support: www.gmb.nl/service and/or helpdesk@gembird.nl

SAFETY

(ENG) To ensure safe handling of the product, follow the safety advice on: (DE/AT) Hinweise zum sicheren
Gebrauch der Produkte finden Sie auf: (NL/BE) Voor een veilig gebruik van het product volgt u deze algemene
veiligheidsaanwijzingen op: (ES) Para garantizar una manipulacion segura de los dispositivos, siga las

gembird’

advertgncias lde segurida.d disponibles en: (CZ) Abyste zgjistili Abezpheénou manipu!aci s _vyrobkem, dlodriujte USER MANUAL - HANDBUCH o HANDLE'D'NG  MANUALE D'USO o
bezpeénostni pokyny na: (FR/BE) Pour garantir une manipulation stre des appareils, suivez les consignes de o

sécurité sur: (IT) Per garantire una manipolazione sicura del prodotto, seguire i consigli di sicurezza su: (PT) Para MANUAL DE USUAR'O * MANUAL DO USUAR'O  MANUEL
garantir o manuseio seguro do produto, siga as recomendagdes de seguranca em: (PL) Aby obchodzi¢ sie > 7 R
bezpiecznie z produktami, nalezy przestrzega¢ wskazéwek dotyczacych bezpieczenstwa: (RO) Pentru DESCRIPTIF ° INSTRUKCJA OBSLUGI : ,UZIVATEL,SKY,MA!:IUAL °
asigurarea unei manipulari in conditii de siguranta a produsului, urmati recomandarile de securitate de pe: (SK) IHCTPYKLUIA KOPUCTYBAYA « POUZIVATELSKA PRIRUCKA -

Na zaistenie bezpec¢nej manipuldcie so zariadeniami sa riadte bezpecnostnymi pokynmi na: (SL) Za

zagotavljanje varnega ravnanja z napravami, upostevajte varnostna navodila, ki jih najdete na: (HR) Da biste VARTOTOJO VADOVAS * MANUAL DE UTILIZARE

osigurali sigurno rukovanje uredajima, pratite sigurnosne savjete na web-mjestu: (HU) A készllékek biztonsagos
kezelésének érdekében kdvesse a biztonsdgi tandcsokat (BG) 3a aa ocurypute GesonacHa paboTta Ha
YCTPOWMCTBATA, CAEABaNTE ChbBETUTE 3a 6@30MacHOCT Mo-A0AY: www.gmb.nl/safety

A (F TVS-755-02

~ M (cHINA

40 kg

600x400 Max. \—

TV floor stand
with caster wheels

6 \/%%X%% 8

Too long Too Short




C (x1)

J&x7) K (x16)
D6 ST4.2x15

fmm

M-A (x4)
M6x14

tmm

M-B (x4)
M8x16

&

M-C (x4)
M6x30

A

M-D (x4) M-E (x4)
M8x35 D8
N (x4) O (x3) P (x1) @ @
M6x16 M6x35 4mm
M-F (x4) M-G (x4)
D15x8x5 D15x8x15
1
1
I
1
1
1
1
1l
7/
7
7/
7
//,
éﬂ& /’/




